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Integrated Advanced Algebra
Worksheet: Graphs of Even and Odd Function

Determine whether each of the following functions is even, odd, or neither. Justity your
answer by stating how the graph is or isnt symmctneal.
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Now, let’s look at the graphs of the parent functions for symmetry.

A tunction is an even function when: A tunction is an odd function when:
> 1(=x) = 1(x) > 1(=X) = —t(x)
— Graph is Ssymmetric about the y-axis. — Graph is symmetric about the origin.
(or rotated 180° about the origin)
Example: y= [x| Example: y = x°

Trick: Can-you fold the graph in halif along Trick: Can you rotate the graph upside

the y-axis and it aligns perfectly? down (OR, flip the graph over the
Then itis even. y-axis and then the x-axis) and it still
looks the same?
Then it is odd.

A tunction is neither even nor odd it it doesn’t meet the requirements to be an even
function or an odd function.
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Exampk 3: Graph the foliowing functions. Then, determine if the function is even, odd, or
neither. Justity your answer by stating how the graph is or isn't symmetrical,

a)

a) f(x) =2x*—4x
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